## **Annexure – H 2 (Cancellation)**

Date: 27.01.2019

<u>Cancellation of locations in the Advertisement published in the website</u>
<u>www.petrolpumpdealerchayan.in for "Appointment of Regular / Rural Retail Outlet (Petrol Pump) Dealerships"</u> by Indian Oil Corporation Ltd. on 25.11.2018

An Advertisement was published by Indian Oil Corporation Ltd. on 25.11.2018 in the website <a href="https://www.petrolpumpdealerchayan.in">www.petrolpumpdealerchayan.in</a> seeking applications for "Appointment of Regular / Rural Retail Outlet (Petrol Pump) Dealerships" at various locations in the State of Kerala & Mahe District of UT of Puducherry with Sl. no 1 to 937.

The Locations with Sl no 1, 24, 55, 71, 292, 294, 487, 488, 497, 500, 501, 502, 509, 510, 542, 578, 595, 610, 671, 678, 745, 752, 759, 800, 820, 842 & 856, as mentioned below, stand cancelled:-

SI. No	Name of location	Revenu e District	Type of RO	Estima ted month ly Sales Potent ial #	Category	Type of Site*	Minimum Dimension (in M.)/Area of the site (in Sq. M.). *			Finance to be arranged by the applicant ( Rs in Lakhs)		Mode of Selectio n	Fixed Fee / Minim um Bid amou nt ( Rs. in Lakhs)	Security Deposit ( Rs in Lakhs)
1	2	3	4	5	6	7	8			9a	9b	10	11	12
			Regul ar / Rural	MS+H SD in Kls	SC  SC CC-1  SC PH  ST  ST CC-1  ST PH  OBC  OBC CC-1  OBC PH  OPEN  OPEN  CC-1  OPEN  CC-2  OPEN  PH	CC / DC / CFS	Front age	Dep th	Area	Esti mat ed wor king capi tal requ irem ent for oper atio n of RO	Estima ted fund requir ed for develo pment of infrast ructur e at RO	Draw of Lots / Bidding		

1	Punnumo odu	Alapp uzha	Regul ar	160	SC	CFS	25	25	625	0	0	Draw of Lots	0	3
24	Pilathara Jn. to Chumadut hangi Bus Stop (on Pilathara Pappinisse ri Road)	Kannu r	Regul ar	185	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
55	Balaramap uram - Uchakkad a	Thiruv anant hapur am	Regul ar	150	SC	CFS	25	25	625	0	0	Draw of lots	0	3
71	Kainakari Panchayat Jetty (Water front RO)	Alapp uzha	Regul ar	100	OPEN	DC	25	25	625	25	45	Draw of Lots	15	5
292	Munnar(n ot on NH/SH)	Idukki	Regul ar	170	ST	CFS	25	25	625	0	0	Draw of Lots	0	3
294	Kumuli town (Other than NH 220 and SH 19)	Idukki	Regul ar	130	OBC	DC	25	25	625	25	45	Draw of Lots	15	4
487	From Kannapura m to Pappinisse ry	Kannu r	Regul ar	110	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
488	Pazhayang adi	Kannu r	Regul ar	137	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
497	Azhikkal Harbor	Kannu r	Regul ar	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4

500	Chalode to Anjarakan dy	Kannu r	Regul ar	100	OPEN	СС	20	20	400	25	10	Biddin g	30	5
501	Velimana m to Keezhpally	Kannu r	Regul ar	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
502	Chitharipa ramba to Kolayad	Kannu r	Regul ar	100	OPEN	CC	20	20	400	25	10	Biddin g	30	5
509	Valapatta nam to Moonunir ath Junction	Kannu r	Regul ar	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
510	Irikkur to Kololam	Kannu r	Regul ar	100	OPEN	CC	20	20	400	25	10	Biddin g	30	5
542	Maruthayi to Irikkur Road	Kannu r	Rural	60	OPEN	DC	20	20	400	12	30	Draw of lots	5	4
578	Kunjipally railway gate to Monthal Bridge	Kozhi kode	Regul ar	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
595	Mavoor	Kozhi kode	Regul ar	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
610	Pantheera nkavu To Perumann a	Kozhi kode	Regul ar	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
671	Manarmal a- Manathm angalam	Malap pura m	Regul ar	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
678	Edakkara( On Karulai Road)	Malap pura m	Regul ar	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5

745	Kambalakk ad to Pallikunnu	Waya nad	Regul ar	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
752	Vythiri (Padinjare thara Road)	Waya nad	Regul ar	110	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
759	Koyileri	Waya nad	Rural	90	SC	CFS	20	20	400	0	0	Draw of lots	0	2
800	Moscow Jn(Kottaya m- thiruvanch oor Road)	Kotta yam	Regul ar	110	OPEN	DC	25	25	625	25	45	Draw of Lots	15	5
820	Nalukody	Kotta yam	Regul ar	151	OBC	DC	25	25	625	25	45	Draw of Lots	15	4
842	Peroor to Cheruvand oor (on Manarcau d - Ettumano or Road)	Kotta yam	Rural	154	OPEN	DC	20	20	400	12	30	Draw of lots	5	4
856	Idiinjillam - Kavumbha gom	Patha namt hitta	Rural	95	OBC	DC	20	20	400	12	30	Draw of lots	5	3

Application fee of those Applicants, who have already submitted the applications along with the requisite application fee for the above locations, shall be refunded.

All other terms & conditions of the advertisement published on 25.11.2018 remains unchanged.